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12. What is the order of the element (c~i,p) in the group U6 x D4?
Explain your answer.
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13. Let G be the group Z4 x ZlO . Let N be the subgroup «2,2» of G. vVhat
. is the order of the element (1,2) + N in the group ~? Explain your answer.
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14. Let (JRPOS,x) represent the group of positive real numbers under multiplication.
Does (JRPOS,x) contain any non-cyclic subgroups? If not, expl~in why not. If
so, exhibit such a subgroup and explain why the subgroup is not cyclic.

T~ ~Y~f rt<..PCS lJ fJof cyC/lc* (. yc.//( '}J.lP'I!( Cite. Ld,?t~C;/( f!)t- t~/ff',

11.e S.{.?t IR P,S ;:J ?Jc:>1 ( <!JCtIJ.--If( /;/C"

ljZt~~ j 5 40;:,1'
rv,. ( ( r-.. ~


